OMmRON

BEE-SX138

WSR~TE

Jxbvo0t0Y [EER]

W5

(B mm)
~6.8+ o JEME3 AmmLH ¥ 4 7
1 o 7 ¥ MERELA
—H— ?}%0%1%—/\“— %a o B HEE (A1) v MIE0.5mm)
T 2 | 12 o 1 VHLY AT RE
=k [ nis
L ALBEE AR
2.1X0.5
0.2 — 34 2Y vk F_7§
| 4-R1.25
| i >T'\ ma T WX R KEE (Ta=25C)
10 f O P e
Lol T 17 Tes L T\ S5 I H | ERME | B
e | | 4-R1 mw % Mg 7 b IF 50 *1| mA
- 4-0.25 405 7&: 28V A JEE R IFp 1 *2| A
S .6+0.3 -54+0.2 il —
Ly —13.6— " - 143— > w puil T JT VR 4 v
Z abyy-r3yyMEE | Vceo 30 v
[} <
z EE % = % I3y5-3V/ S HEE | Veco — v
B =)
E EO— ——OAc[E wm|l vy EIR Ic 20 mA
E b:# BER ESTEAZITERET S, L 7 ¥ E % Pc 100 *1| mW
)S( co— 1 [ T E X 5 & = B RO Topr -25~+ 85| C
1 WTRLE % 3T | +02 ®oF R E Tstg | —40~+100| C
; A 7/ F SEMROIT | +024 i A 7T R E | Tsol 260 *3| C
K T 6 ZMAIOBT | £0.29 RIS C R BB L. BECEHE TN
C T 0EBEZISDT | 035 *1 JfE]Lijﬁ'EfJ 25T Z5HEEE, BEERNE %
E T3iv¥ 18%W230LL T | +042 *2 70U AN 10 15, HE L 100Hz
3 3 AT EREIZ 10R0 AN
BES[H B KOXFZRFMH (Ta=25C)
) T -
R e TSI S
MIN. TYP. MAX.
JIE o FE | VE — 1.2 1.5 V | IF=30mA
1?'1’: pUil A IR — 0.01 10 A | VR=4V
H
¥ — 7 Btk E AP — 940 — nm | [F=20mA
ot 5 i IL 1.9 — 14 mA | IrF=20mA, Vce=10V
i G5 Wi | Ib — 2 200 nA | Vee=10V, 0/x
1,J W L B | ILeak — — — 1A
Hi
a7y -3y 7R _ _
# A1 = E Vce(sat) — 0.1 0.4 \Y [F=20mA, IL=0.1mA
Y= 7 b ENE AP — 850 — nm | Vce=10V
= & Vee=5V, RL=1000Q
go00W M| ot 4 — | s |y
Vcc=5V, RL=100()
S 52 - . ’
T~ i fhy | tf 4 1S | [ Zsma

96




OmROoN

EE-SX138

WER - 4FIEETR

IE 60
i

mA 50
40
30

20

0
-40 -20 0 20 40 60 80

¥ 20 T T
z Ta=25C
w18
)
™ 16
14 Tr=50 apeens
12 — TF=40MA T
10 T T
— TF=30mA
’ l
6 [F=20mA| |
] l
[F=10mA
2
0
0 1 2 3 4 5 6 7 8 9 10
ALy %-I3y 2EEEVCE (V)
X7. IcERE—afHRnFE (TYP.)
£10,000 =
g Vec=5V H
= Ta=25C ]
i
tr
i
#5 1,000
tf
v
/A
7N
g tr
10 =
-
1
0.01 0.1

1. IBEH - AL 7 21BRDBETERE

@
o
u

Pc

100

N\
N\
\

0
100
BEEETa (C)

4. XEF—aL 74 - I3y 2FEEEE (TYP)

1 10
BFEARL (kQ)

B10. &R ERIE R

Vce

Hh

(2) ey

40
30

20

90
80
70

60

18120
o

8
100

()=

80

60

40

20

H2. JEER—IREEFE (TYP.)

Ta=—30C

|

| \
Ta=T25"C

Ta=+70C

l

I
|

)

0 02 04 06 08 1 12

14 16 18

IEEEVF (V)

5. Hx$ A ER—REERERFE (TYP.)

[
IF=20mA
Vce=5V
-40  -20 0 20 40 60 80 100
BEEBETa (T)
8. MBS E (TYP.)
[
IF=20mA
Vce=10V
Ta=2‘5°C%
\ (Seshpily)
—+0—+
da
-05 025 0 025 05 075 1.0
FEBd (mm)

X3. K ER—IEE R (TYP)
% 20 ]
= Ta=25C
e VcE=10V ]
™ 16
14 ,/
12
10 //
/]
8 7
6
4 /l
/1
2
0
0 10 20 30 40 50
JBE F#IF (mA)

6. BER—RAEEESFE (TYP.)

; 7
7
0.1
0.01
O I
-30 20 -10 O 10 20 30 40 50 60 70 80 90

BIERETa (C)
9. BHAIESFE (TYP.)

8120 ‘ ‘
ﬂ IF=20mA
S VCE=19V
100 Ta=25C —

I \

% \ |
80

o
f]
I
oo
(SBEE)

o \

. \

10 15
EE8td (mm)

2.0

97





